COVER MOUNTING SCREWS RECOMMENDED TORQUE: 8 IN./LB.
3. ALL DIMENSIONS HAVE +/-.039[+/-1] TOLERANCE
4.  ALL OUTSIDE AND INSIDE DRAFT ANGLE: 1°

OPTIONAL

PNX-91438 - OPTIONAL PANEL

ACCESSORIES:

NEMA 1,2,3,4,4X,12, AND 13 ENCLOSURE SPECIFICATIONS

DESIGNED TO IP65 OF |[EC 529

UL LISTED

PART PART REVISION
NANE NEMA PLASTIC BOX No. PN-1339, PN-1339-C AND PN-1339-DG VIION 8.12-14
POLYCARBONATE: ABS: (FOR INDOOR USE ONLY)
LIGHT GRAY AND CLEAR DARK GRAY .90 " .13 (4X)
UL94-HB FLAMMABILITY RATING (UL FILE #E41613)  UL94-HB FLAMMABILITY RATING (UL FILE #E56070) [149.9] - [32]
UV STABILIZED SERVICE TEMPERATURE RANGE: -40°c TO +80°c ~ :
SERVICE TEMPERATURE RANGE: -40°c TO +120°C 503 —J 1
A B [150.5] 12 -
<_! S, 4.65
I ] $ \ 585 544 :
[148.6][138.2] [118.1]
f ol Iy
3.13 3.3]
[79.5] SECTION A-A [84] . o
378 SUGGESTED PC BOARD
al— — LAYOUT
\ | [96]
I ] T [T C0n n | 420
A < )
3 6.30 _ 12 [106.7]
579 [160] - - [?'5032] 3] _
ﬁ';?(4x)— [147] " 494 SILICONE SPONGE GASKET - [ﬁfg] _
' - 551 [126] _  M4x0.7x 3151G. . 242 579 — [H? -
= [140] = THREADED INSERT (4X) [61.5] - (147] - 30
‘ (O Eg 5 ] =N
I ‘ ~ J@ «:éb: ©c = I ! I 75 f ll %Uﬂ [
2.89
[73.5]
@ .298 BOSS WITH
@ .174x ¥ .203 5.44
MOUNTING BOSSES USE EITHER M5
6.30 ,%?b OR #10 SHEET METAL SCREWS @ [138.2] 630 5.79 5093
[160] (NOT SUPPLIED) 6.02 BODY (160] [147] 1150.5]
5.79 []53]
[147]
®.090 x T .203
| MOUNTING BOSSES USE EITHER M2.5
- OR #4 SHEET METAL SCREWS
I (NOT SUPPLIED)
Y ® E ! )
\ O Ol o \ | Y E@ . ﬁi‘ ’
1.54 —
~ - @ 250 BOSS WITH
[39] 3.07 | _ M3x0.5x.1881G. B 5.93 - COVER
78 THREADED INSERT (4X) - -
- [391? [78] - (SCREWS NOT SUPPLIED) [150.5]
6.02
NOTE: [153] i
1. FOUR (4X) M4x0.7 x 20mm LG. STAINLESS STEEL MACHINE SCREWS SUPPLIED FOR ASSEMBLY
2. PART NUMBER MATERAL BODY / COVER

PN-1339 LIGHT GRAY POLYCARBONATE BODY & COVER
PN-1339-C LIGHT GRAY PC BODY / CLEAR PC COVER
PN-1339-DG DARK GRAY HIGH-IMPACT ABS BODY & COVER




	Sheet1
	Drawing View10
	Drawing View15
	Drawing View16
	Drawing View18
	Drawing View19
	Section View A-A
	Drawing View21
	Drawing View22


